BID OPENING DATE: BID OPENING LOCATION: **TABULATION BY: TABULATION DATE:** LJA JOB NO.

CONSTRUCTION OF THE PHASE 2 DETENTION TO SERVE BUTLERS BEND MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 201 MONTGOMERY COUNTY, TEXAS MARCH 8, 2024 LJA ENGINEERING, INC. S. YOUNG MARCH 12, 2024 1931-0312A (9.2)

DIDDEDIS NAME	TOTAL BID AMOUNT	TOTAL BID AMOUNT AND ALTERNATE BID ITEM NO. 1	TOTAL BID AMOUNT AND ALTERNATE BID ITEM NO. 1 & ALTERNATE BID ITEM NO. 2
BIDDER'S NAME			
1) OPPSCAT ₄ LLC	\$459,629.00	\$591,629.00	\$966,629.00 *
2) RALLY CONSTRUCTION, INC.	\$527,093.00	\$709,093.00	\$1,209,093.00
3) KEAN CONSTRUCTION, LLC	\$552,179.00	\$622,179.00	\$872,179.00
4) DOUBLE OAK CONSTRUCTION, INC.	\$559,255.40	\$832,255.40	\$1,582,255.40 *
5) LONNIE LISCHKA COMPANY, LP	\$579,918.12	\$866,218.12	\$1,659,968.12 *
6) REBEL CONSTRUCTORS, INC.	\$786,093.25	\$968,593.25	\$1,468,593.25
7) URSA CORPORATION DBA GREAT BEAR CONSTRUCTION	\$1,207,454.00	\$1,567,454.00	\$2,567,454.00
CALENDAR DAYS - 35/45			

SETH J. HARVEY

I, SETH J. HARVEY, P.E., hereby certify these bid tabulations to be true and correct

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

LJA JOB NO.			1931-031ZM (9.Z)					
			1) OPPSCA	TLLC	2) RALLY CONSTR	IUCTION, INC.	3) KEAN CONSTRI	JCTION, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MASS GRADING ITEMS								
EXCAVATION OF DETENTION POND, FUTURE LOTS, FUTURE RIGHT OF WAY AND RESERVES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	CY	55,000	\$1.80	\$99,000.00	\$2.38	\$130,900.00	\$1.25	\$68,750.00
2. EMBANKMENT OF DETENTION POND, FUTURE LOTS, FUTURE RIGHT OF WAY AND RESERVES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	CY	45,000	\$1.80	\$81,000.00	\$2.00	\$90,000.00	\$2.00	\$90,000.00
 STOCKPILING OF EXCESS SPOILS, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE 	CY	10,000	\$1.80	\$18,000.00	\$1.80	\$18,000.00	\$3.00	\$30,000.00
4. EXCAVATION AND EMBANKMENT OF DETENTION POND BACKSLOPE SWALES, 2' MAXIMUM DEPTH WITH 4:1 OR FLATTER SIDE SLOPES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION OF 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LF	1,590	\$2.00	\$3,180.00	\$3.00	\$4,770.00	\$3.00	\$4,770.00
5. EXCAVATION AND EMBANKMENT OF BOUNDARY SWALES, 2' MAXIMUM DEPTH WITH 4:1 OR FLATTER SIDE SLOPES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION OF 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LF	2,250	\$2.00	\$4,500.00	\$4.00	\$9,000.00	\$3.00	\$6,750.00
6. EXCAVATION AND EMBANKMENT OF 1' BOTTOM WIDTH SWALES, 5' MAXIMUM DEPTH WITH 4:1 OR FLATTER SIDE SLOPES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION OF 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LF	200	\$10.00	\$2,000.00	\$10.00	\$2,000.00	\$3.00	\$600.00
7. EXCAVATION AND EMBANKMENT OF POND OUTFALL CHANNEL, INCLUDES CONNECTION TO DECKER BRANCH, 4:1 OR FLATTER SIDE SLOPES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION OF 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LF	100	\$30.00	\$3,000.00	\$10.00	\$1,000.00	\$5.00	\$500.00
8. EXCAVATION AND EMBANKMENT CONCRETE LINED PILOT CHANNELS, INCLUDES 5" THICK CONCRETE LINING, 0.5' MAXIMUM DEPTH WITH 3:1 OR FLATTER SIDE SLOPES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION OF 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LF	935	\$55.00	\$51,425.00	\$50.00	\$46,750.00	\$105.00	\$98,175.00
 DRY APPLICATION SEEDING OF DETENTION POND FROM TOE TO HIGH BANK AND ALL SWALES, INCLUDES MOWING AND WATERING TO ACHIEVE 90% HOMOGENOUS VEGETATION FOR FINAL PAYMENT, TO BE USED AT WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE 	AC	3	\$500.00	\$1,500.00	\$4,000.00	\$12,000.00	\$3,300.00	\$9,900.00
10. HYDROMULCH SEEDING OF DETENTION POND BOTTOM, INCLUDES MOWING AND WATERING TO ACHIEVE 90% HOMOGENOUS VEGETATION FOR FINAL PAYMENT, TO BE USED AT WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	AC	3	\$2,500.00	\$7,500.00	\$3,000.00	\$9,000.00	\$3,300.00	\$9,900.00
11. BROADCAST SEEDING OF FUTURE LOTS, INCLUDES MOWING AND WATERING TO ACHIEVE 90% HOMOGENOUS VEGETATION FOR FINAL PAYMENT, TO BE USED AT WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE		22	\$500.00	\$11,000.00	\$900.00	\$19,800.00	\$1,200.00	\$26,400.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

COMPLETE IN PLACE

TABULATION DATE: LJA JOB NO.			ARCH 12, 2024 931-0312A (9.2)					
			1) OPPSCA	AT LLC	2) RALLY CONSTRU	JCTION, INC.	3) KEAN CONSTR	UCTION, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
12. DEWATERING (GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCTION TO THE DETENTION POND, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY PUMPING NECESSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	AC	6	\$1,000.00	\$6,000.00	\$750.00	\$4,500.00	\$1,500.00	\$9,000.00
13. AS-BUILT SURVEY OF DETENTION POND, FUTURE LOTS, SWALES, STOCKPILES AND ALL DISTURBED AREA, INCLUDES ALL HIGH BANKS, GRADE BREAKS, TOES, FRONT AND BACK OF LOTS, FLOWLINES OF PIPES, STRUCTURES, ETC., 50' GRID SURVEY, TO BE PROVIDED IN A 3D CAD FILE FORMAT AND EXHIBIT SEALED BY TEXAS PROFESSIONAL SURVEYOR, COMPLETE IN PLACE	LS	1	\$7,500.00	\$7,500.00	\$6,000,00	\$6,000.00	\$23,000.00	\$23,000.00
SUBTOTAL MASS GRADING ITEMS				\$295,605.00		\$353,720.00		\$377,745.00
DRAINAGE ITEMS								
 24" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	131	\$130.00	\$17,030.00	\$140.00	\$18,340.00	\$145.00	\$18,995.00
 30° RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	81	\$190.00	\$15,390.00	\$168.00	\$13,608.00	\$175.00	\$14,175.00
 REINFORCED CONCRETE PRECAST OR REINFORCED CONCRETE CAST IN PLACE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE 	EA	1	\$4,500.00	\$4,500.00	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00
 REINFORCED CONCRETE PRECAST OR REINFORCED CONCRETE CAST IN PLACE TYPE "C" MANHOLE WITH TYPE "E" INLET TOP FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE 	EA		\$6,500.00	\$6,500.00	\$9,500.00	\$9,500.00	\$7,500.00	\$7,500.00
5. BACKSLOPE INTERCEPTOR STRUCTURE, INCLUDES 24" CORRUGATED METAL PIPE, 24" WIDE BAND COUPLER, FABRICATED ELBOW AND REINFORCED CONCRETE SLOPE PROTECTION FOR BACKSLOPE SWALE, COMPLETE IN PLACE	EA	2	\$7,000.00	\$14,000.00	\$10,000.00	\$20,000.00	\$15,000.00	\$30,000.00
 CONCRETE SLOPE PROTECTION, 4" THICK REINFORCED CONCRETE 3,000 PSI WITH 18" PERIMETER TOEWALL, INCLUDES SCORING OF PIPE, EMBANKMENT OF FILL AND FINAL GRADING OF SLOPES, COMPLETE IN PLACE 	SY	132	\$105.00	\$13,860.00	\$114.00	\$15,048.00	\$111.00	\$14,652.00
 18" THICK RIP RAP GRADATION NO. 2, INCLUDES MIRAFI-600 OR APPROVED EQUAL, COMPLETE IN PLACE 	SY	64	\$105.00	\$6,720.00	\$90.00	\$5,760.00	\$100.00	\$6,400.00
8. TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	212	\$2.00	\$424.00	\$6.00	\$1,272.00	\$1.00	\$212.00
9. DEWATERING (GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCTION TO THE DETENTION POND, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY PUMPING NECESSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	212	\$20.00	\$4,240.00	\$20.00	\$4,240.00	\$20.00	\$4,240.00
10. ADDITIONAL COST FOR BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS (WET SAND), TO BE USED AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	212	\$20.00	\$4,240.00	\$20.00	\$4,240.00	\$20.00	\$4,240.00
SUBTOTAL DRAINAGE ITEMS				\$86,904.00		\$98,008.00		\$107,914.00
MISCELLANEOUS ITEMS								
 CEMENT STABILIZED SAND, 1.5 SACKS OF CEMENT PER CUBIC YARD OF MIX, TO BE USED AT THE WRITTEN DIRECTION OF THE ENGINEER, COMB. ETC. IN PLACE. 	TON	1	\$20.00	\$20.00	\$40.00	\$40.00	\$20.00	\$20.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

LUA UUD NO.			701 00 IE/1 (0.E)					
			1) OPPSCAT	LLC	2) RALLY CONSTRU	CTION, INC.	3) KEAN CONSTR	UCTION, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
2. REINFORCED FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	12,500	\$1.50	\$18,750.00	\$2.05	\$25,625.00	\$1.50	\$18,750.00
3. FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	18,500	\$1.50	\$27,750.00	\$1.80	\$33,300.00	\$1.50	\$27,750.00
 UTILITY SPOILS (COMPACTED TO 95% STANDARD PROCTOR DENSITY) TO BE USED ON-SITE, INCLUDES HAULING, PLACEMENT AND COMPACTION, COMPLETE IN PLACE 	LS	1	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00
5. TEMPORARY TRAFFIC CONTROL, COMPLETE IN PLACE	LS	1	\$100.00	\$100.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDES STREET SWEEPING, INSTALLATION AND REMOVAL OF CONCRETE TRUCK WASHOUT, INLET PROTECTION, ETC., COMPLETE IN PLACE 	LS	1	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00
 SURFACE WATER CONTROL, INCLUDES PUMPING REQUIRED TO CONSTRUCT PROPOSED PROJECT, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE 	LS	ţ	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00
8. TYPE 2 ROCK FILTER DAM, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$2,400.00	\$2,400.00	\$2,000.00	\$2,000.00
WOODEN MATS FOR CROSSING OF JURISDICTIONAL STREAMS, INCLUDES THE INSTALLATION, MATERIAL, MAINTENANCE AND REMOVAL, COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$3,200.00	\$3,200.00	\$5,000.00	\$5,000.00
10. LOW WATER CROSSING FOR CROSSING OF JURISDICTIONAL STREAMS, INCLUDES PIPE, BEDDING AND BACKFILL, MAINTENANCE OR REMOVAL, TO BE USED AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LS	1	\$3,500,00	\$3,500.00	\$1,800.00	\$1,800.00	\$5,000.00	\$5,000.00
11. STABILIZED CONSTRUCTION EXIT, INCLUDES INSTALLATION, MAINTENANCE AND REMOVAL, COMPLETE IN PLACE	LS		\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00
SUBTOTAL MISCELLANEOUS ITEMS				\$77,120.00		\$75,365.00		\$66,520.00
ALTERNATE BID ITEM NO. 1								
 HAUL OFF-SITE AND DISPOSE OF MATERIAL GENERATED FROM THE EXCAVATION OF THE DETENTION POND AND FUTURE LOTS AND RESERVES, TO BE USED IN LIEU OF MASS GRADING ITEM NO. 3, COMPLETE IN PLACE 	CY	10,000	\$15.00	\$150,000.00	\$20.00	\$200,000.00	\$10.00	\$100,000.00
SUBTOTAL ALTERNATE BID ITEM NO. 1				\$150,000.00		\$200,000.00		\$100,000.00
ALTERNATE BID ITEM NO. 2	CV	05.000	\$15.00	\$375,000.00	\$20.00	\$500,000.00	\$10.00	\$250,000.00
 HAUL OFF-SITE AND DISPOSE OF MATERIAL IN EXISTING STOCKPILES, INCLUDES EXCAVATION, COMPLETE IN PLACE 	CY	25,000	\$15.00	\$313,000.00	920.00	9300,000.00	φ10.00	φευυ ₁ νου.00
SUBTOTAL ALTERNATE BID ITEM NO. 2				\$375,000.00		\$500,000.00		\$250,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

LJA JOB NO.	1001 00121 (0.2)					
	1) OPPS	SCAT LLC	2) RALLY CONS	TRUCTION, INC.	3) KEAN CONS	TRUCTION, LLC
ITEM DESCRIPTION UNIT QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
BID SUMMARY						
SUBTOTAL MASS GRADING ITEMS		\$295,605.00		\$353,720.00		\$377,745.00
SUBTOTAL DRAINAGE ITEMS		\$86,904.00		\$98,008.00		\$107,914.00
SUBTOTAL MISCELLANEOUS ITEMS		\$77,120.00		\$75,365.00		\$66,520.00
TOTAL AMOUNT BID		\$459,629.00		\$527,093.00		\$552,179.00
ALTERNATE BID ITEM NO. 1						
TOTAL AMOUNT BID		\$459,629.00		\$527,093.00		\$552,179.00
DEDUCT MASS GRADING ITEM NO. 3		(\$18,000.00) *		(\$18,000.00)		(\$30,000.00)
SUBTOTAL ALTERNATE BID ITEM NO. 1		\$150,000.00		\$200,000.00		\$100,000.00
TOTAL AMOUNT BASE BID INCLUDING ALTERNATE BID ITEM NO. 1		\$591,629.00		\$709,093.00		\$622,179.00
ALTERNATE BID ITEM NO. 1 AND ALTERNATE BID ITEM NO. 2		A. A.				
TOTAL AMOUNT BID		\$459,629.00		\$527,093.00		\$552,179.00
DEDUCT MASS GRADING ITEM NO. 3		(\$18,000.00) *		(\$18,000.00)		(\$30,000.00)
SUBTOTAL ALTERNATE BID ITEM NO. 1		\$150,000.00		\$200,000.00		\$100,000.00
SUBTOTAL ALTERNATE BID ITEM NO. 2		\$375,000.00		\$500,000.00		\$250,000.00
TOTAL AMOUNT BASE BID INCLUDING ALTERNATE BID ITEM NO. 1 AND ALTERNATE BID ITEM NO. 2		\$966,629.00 °		\$1,209,093.00		\$872,179.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PHASE 2 DETENTION
TO SERVE BUTLERS BEND
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 201
MONTGOMERY COUNTY, TEXAS
MARCH 8, 2024
LJA ENGINEERING, INC.
S. YOUNG
MARCH 12, 2024
1931-0312A (9.2)

			4) DOUBLE OAK CONS	STRUCTION, INC.	5) LONNIE LISCHKA	COMPANY, LP	6) REBEL CONSTR	UCTORS, INC.
ITEM DESCRIPTION MASS GRADING ITEMS	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
EXCAVATION OF DETENTION POND, FUTURE LOTS, FUTURE RIGHT OF WAY AND RESERVES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	CY	55,000	\$2.55	\$140,250.00	\$2.00	\$110,000.00	\$3.20	\$176,000.00
2. EMBANKMENT OF DETENTION POND, FUTURE LOTS, FUTURE RIGHT OF WAY AND RESERVES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	CY	45,000	\$2.70	\$121,500.00	\$3.36	\$151,200.00	\$1.75	\$78,750.00
 STOCKPILING OF EXCESS SPOILS, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE 	CY	10,000	\$2.70	\$27,000.00	\$3,12	\$31,200.00	\$1.75	\$17,500.00
4. EXCAVATION AND EMBANKMENT OF DETENTION POND BACKSLOPE SWALES, 2' MAXIMUM DEPTH WITH 4:1 OR FLATTER SIDE SLOPES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION OF 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LF	1,590	\$3.80	\$6,042.00	\$3.00	\$4,770.00	\$9.26	\$14,723.40
 EXCAVATION AND EMBANKMENT OF BOUNDARY SWALES, 2' MAXIMUM DEPTH WITH 4:1 OR FLATTER SIDE SLOPES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION OF 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE 	LF	2,250	\$3.80	\$8,550.00	\$3.00	\$6,750.00	\$8.89	\$20,002.50
6. EXCAVATION AND EMBANKMENT OF 1' BOTTOM WIDTH SWALES, 5' MAXIMUM DEPTH WITH 4:1 OR FLATTER SIDE SLOPES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION OF 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LF	200	\$3.80	\$760.00	\$8.00	\$1,600.00	\$62.50	\$12,500.00
7. EXCAVATION AND EMBANKMENT OF POND OUTFALL CHANNEL, INCLUDES CONNECTION TO DECKER BRANCH, 4:1 OR FLATTER SIDE SLOPES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION OF 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LF	100	\$3.80	\$380.00	\$10.00	\$1,000.00	\$95.00	\$9,500.00
8. EXCAVATION AND EMBANKMENT CONCRETE LINED PILOT CHANNELS, INCLUDES 5" THICK CONCRETE LINING, 0.5" MAXIMUM DEPTH WITH 3:1 OR FLATTER SIDE SLOPES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION OF 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LF	935	\$3.80	\$3,553.00	\$52.35	\$48,947.25	\$56.21	\$52,556.35
9. DRY APPLICATION SEEDING OF DETENTION POND FROM TOE TO HIGH BANK AND ALL SWALES, INCLUDES MOWING AND WATERING TO ACHIEVE 90% HOMOGENOUS VEGETATION FOR FINAL PAYMENT, TO BE USED AT WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	AC	3	\$3,540.00	\$10,620.00	\$3,500.00	\$10,500.00	\$4,500.00	\$13,500.00
10. HYDROMULCH SEEDING OF DETENTION POND BOTTOM, INCLUDES MOWING AND WATERING TO ACHIEVE 90% HOMOGENOUS VEGETATION FOR FINAL PAYMENT, TO BE USED AT WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	AC	3	\$2,500.00	\$7,500.00	\$3,500.00	\$10,500.00	\$3,800.00	\$11,400.00
11. BROADCAST SEEDING OF FUTURE LOTS, INCLUDES MOWING AND WATERING TO ACHIEVE 90% HOMOGENOUS VEGETATION FOR FINAL PAYMENT, TO BE USED AT WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	AC	22	\$550.00	\$12,100.00	\$10.00	\$220.00	\$1,600.00	\$35,200.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

LJA JOB NO.			1931-0312A (9.2)					
			4) DOUBLE OAK CON	STRUCTION, INC.	5) LONNIÉ LISCHK	A COMPANY, LP	6) REBEL CONSTR	RUCTORS, INC.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
12. DEWATERING (GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCTION TO THE DETENTION POND, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY PUMPING NECESSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	AC	6	\$1.00	\$6,00	\$0.01	\$0.06	\$10,000.00	\$60,000.00
13. AS-BUILT SURVEY OF DETENTION POND, FUTURE LOTS, SWALES, STOCKPILES AND ALL DISTURBED AREA, INCLUDES ALL HIGH BANKS, GRADE BREAKS, TOES, FRONT AND BACK OF LOTS, FLOWLINES OF PIPES, STRUCTURES, ETC., 50' GRID SURVEY, TO BE PROVIDED IN A 3D CAD FILE FORMAT AND EXHIBIT SEALED BY TEXAS PROFESSIONAL SURVEYOR, COMPLETE IN PLACE	LS	1	\$9,500.00	\$9,500.00	\$15,000.00	\$15,000.00	\$32,000.00	\$32,000.00
SUBTOTAL MASS GRADING ITEMS				\$347,761.00		\$391,687.31		\$533,632.25
DRAINAGE ITEMS								
 24" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	131	\$265.00	\$34,715.00	\$156.20	\$20,462.20	\$115.00	\$15,065.00
30° RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	81	\$295.00	\$23,895.00	\$199.10	\$16,127.10	\$132.00	\$10,692.00
 REINFORCED CONCRETE PRECAST OR REINFORCED CONCRETE CAST IN PLACE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE 	EA	1	\$4,100,00	\$4,100.00	\$4,900.00	\$4,900.00	\$11,650.00	\$11,650.00
4. REINFORCED CONCRETE PRECAST OR REINFORCED CONCRETE CAST IN PLACE TYPE "C" MANHOLE WITH TYPE "E" INLET TOP FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA		\$5,400.00	\$5,400.00	\$6,400.00	\$6,400.00	\$13,500.00	\$13,500.00
5. BACKSLOPE INTERCEPTOR STRUCTURE, INCLUDES 24* CORRUGATED METAL PIPE, 24* WIDE BAND COUPLER, FABRICATED ELBOW AND REINFORCED CONCRETE SLOPE PROTECTION FOR BACKSLOPE SWALE, COMPLETE IN PLACE	EA	2	\$9,000.00	\$18,000.00	\$8,900.00	\$17,800.00	\$8,500.00	\$17,000.00
 CONCRETE SLOPE PROTECTION, 4" THICK REINFORCED CONCRETE 3,000 PSI WITH 18" PERIMETER TOEWALL, INCLUDES SCORING OF PIPE, EMBANKMENT OF FILL AND FINAL GRADING OF SLOPES, COMPLETE IN PLACE 	SY	132	\$150.00	\$19,800.00	\$206.85	\$27,304.20	\$80.00	\$10,560.00
7. 18" THICK RIP RAP GRADATION NO. 2, INCLUDES MIRAFI-600 OR APPROVED EQUAL, COMPLETE IN PLACE	SY	64	\$120.00	\$7,680.00	\$256.45	\$16,412.80	\$110.00	\$7,040.00
8. TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	212	\$1.20	\$254.40	\$1.00	\$212.00	\$2.00	\$424.00
9. DEWATERING (GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCTION TO THE DETENTION POND, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY PUMPING NECESSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	212	\$20.00	\$4,240.00	\$20.00	\$4,240.00	\$20.00	\$4,240.00
 ADDITIONAL COST FOR BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS (WET SAND), TO BE USED AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE 	LF	212	\$20.00	\$4,240.00	\$20.00	\$4,240.00	\$20.00	\$4,240.00
SUBTOTAL DRAINAGE ITEMS				\$122,324.40		\$118,098.30		\$94,411.00
MISCELLANEOUS ITEMS								
 CEMENT STABILIZED SAND, 1.5 SACKS OF CEMENT PER CUBIC YARD OF MIX, TO BE USED AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE 	TON	1	\$20.00	\$20.00	\$32.50	\$32.50	\$50.00	\$50.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PHASE 2 DETENTION
TO SERVE BUTLERS BEND
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 201
MONTGOMERY COUNTY, TEXAS
MARCH 8, 2024
LJA ENGINEERING, INC.
S. YOUNG
MARCH 12, 2024
1931-0312A (9.2)

4) DOUBLE OAK CONSTRUCTION, INC.

5) LONNIE LISCHKA COMPANY, LP

			4) DOUBLE OAK CONS	1110011011, 1110.	o, comme cloorman	001111111111111111111111111111111111111		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
2. REINFORCED FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	12,500	\$2.00	\$25,000.00	\$1.50	\$18,750.00	\$3.50	\$43,750.00
3. FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	18,500	\$1.50	\$27,750.00	\$1.50	\$27,750.00	\$1.50	\$27,750.00
 UTILITY SPOILS (COMPACTED TO 95% STANDARD PROCTOR DENSITY) TO BE USED ON-SITE, INCLUDES HAULING, PLACEMENT AND COMPACTION, COMPLETE IN PLACE 	LS	1	\$5,250.00	\$5,250.00	\$500.00	\$500.00	\$5,000.00	\$5,000.00
5, TEMPORARY TRAFFIC CONTROL, COMPLETE IN PLACE	LS	1	\$650.00	\$650.00	\$0.01	\$0.01	\$5,000.00	\$5,000.00
 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDES STREET SWEEPING, INSTALLATION AND REMOVAL OF CONCRETE TRUCK WASHOUT, INLET PROTECTION, ETC., COMPLETE IN PLACE 	LS	1	\$2,900.00	\$2,900.00	\$2,000.00	\$2,000.00	\$15,000.00	\$15,000.00
SURFACE WATER CONTROL, INCLUDES PUMPING REQUIRED TO CONSTRUCT PROPOSED PROJECT, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LS	1	\$6,500.00	\$6,500.00	\$3,000.00	\$3,000.00	\$15,000.00	\$15,000.00
8. TYPE 2 ROCK FILTER DAM, COMPLETE IN PLACE	EA	1	\$1,900.00	\$1,900.00	\$100.00	\$100.00	\$2,500.00	\$2,500.00
 WOODEN MATS FOR CROSSING OF JURISDICTIONAL STREAMS, INCLUDES THE INSTALLATION, MATERIAL, MAINTENANCE AND REMOVAL, COMPLETE IN PLACE 	LS	1	\$9,500.00	\$9,500.00	\$7,000.00	\$7,000.00	\$25,000.00	\$25,000.00
10. LOW WATER CROSSING FOR CROSSING OF JURISDICTIONAL STREAMS, INCLUDES PIPE, BEDDING AND BACKFILL, MAINTENANCE OR REMOVAL, TO BE USED AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LS	1	\$6,500.00	\$6,500.00	\$7,000.00	\$7,000.00	\$15,000.00	\$15,000.00
 STABILIZED CONSTRUCTION EXIT, INCLUDES INSTALLATION, MAINTENANCE AND REMOVAL, COMPLETE IN PLACE 	LS		\$3,200.00	\$3,200.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
SUBTOTAL MISCELLANEOUS ITEMS				\$89,170.00		\$70,132.51		\$158,050.00
ALTERNATE BID ITEM NO. 1								20
 HAUL OFF-SITE AND DISPOSE OF MATERIAL GENERATED FROM THE EXCAVATIO OF THE DETENTION POND AND FUTURE LOTS AND RESERVES, TO BE USED IN LIEU OF MASS GRADING ITEM NO. 3, COMPLETE IN PLACE 	N CY	10,000	\$30.00	\$300,000.00	\$31.75	\$317,500.00	\$20.00	\$200,000.00
SUBTOTAL ALTERNATE BID ITEM NO. 1				\$300,000.00		\$317,500.00		\$200,000.00
ALTERNATE BID ITEM NO. 2								****
 HAUL OFF-SITE AND DISPOSE OF MATERIAL IN EXISTING STOCKPILES, INCLUDES EXCAVATION, COMPLETE IN PLACE 	S CY	25,000	\$30.00	\$750,000.00	\$31.75	\$793,750.00	\$20.00	\$500,000.00
SUBTOTAL ALTERNATE BID ITEM NO. 2				\$750,000.00		\$793,750.00		\$500,000.00

6) REBEL CONSTRUCTORS, INC.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

			4) DOUBLE OAK CO	NSTRUCTION, INC.	5) LONNIE LISCHI	(A COMPANY, LP	6) REBEL CONS	TRUCTORS, INC.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
BID SUMMARY								
SUBTOTAL MASS GRADING ITEMS				\$347,761.00		\$391,687.31		\$533,632.25
SUBTOTAL DRAINAGE ITEMS				\$122,324.40		\$118,098.30		\$94,411.00
SUBTOTAL MISCELLANEOUS ITEMS				\$89,170.00		\$70,132.51		\$158,050.00
TOTAL AMOUNT BID				\$559,255.40		\$579,918.12		\$786,093.25
ALTERNATE BID ITEM NO. 1								
TOTAL AMOUNT BID				\$559,255,40		\$579,918.12		\$786,093.25
DEDUCT MASS GRADING ITEM NO. 3				(\$27,000.00)	1 -	(\$31,200.00)		(\$17,500.00)
SUBTOTAL ALTERNATE BID ITEM NO. 1				\$300,000.00		\$317,500.00		\$200,000.00
TOTAL AMOUNT BASE BID INCLUDING ALTERNATE BID ITEM NO. 1				\$832,255.40		\$866,218.12		\$968,593.25
ALTERNATE BID ITEM NO. 1 AND ALTERNATE BID ITEM NO. 2								
TOTAL AMOUNT BID				\$559,255.40		\$579,918.12		\$786,093.25
DEDUCT MASS GRADING ITEM NO. 3				(\$27,000.00)		(\$31,200.00)		(\$17,500.00)
SUBTOTAL ALTERNATE BID ITEM NO. 1				\$300,000.00		\$317,500.00		\$200,000.00
SUBTOTAL ALTERNATE BID ITEM NO. 2				\$750,000.00		\$793,750.00		\$500,000.00
TOTAL AMOUNT BASE BID INCLUDING ALTERNATE BID ITEM NO. 1 AND ALTERNATE BID	DITEM NO. 2			\$1,582,255.40 *		\$1,659,968.12 *		\$1,468,593.25

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PHASE 2 DETENTION TO SERVE BUTLERS BEND MONTGOMERY COUNTY MUNICIPAL UTILITY I MONTGOMERY COUNTY, TEXAS MARCH 8, 2024
LJA ENGINEERING, INC.
S. YOUNG
MARCH 12, 2024
1931-0312A (9.2)

7) URSA CORPORATION DBA GREAT BEAR CONSTRUCTION

ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
MASS GRADING ITEMS				
 EXCAVATION OF DETENTION POND, FUTURE LOTS, FUTURE RIGHT OF WAY AND RESERVES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE 	CY	55,000	\$4.50	\$247,500.00
 EMBANKMENT OF DETENTION POND, FUTURE LOTS, FUTURE RIGHT OF WAY AND RESERVES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE 	CY	45,000	\$4.50	\$202,500.00
3. STOCKPILING OF EXCESS SPOILS, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	CY	10,000	\$4.00	\$40,000.00
4. EXCAVATION AND EMBANKMENT OF DETENTION POND BACKSLOPE SWALES, 2' MAXIMUM DEPTH WITH 4:1 OR FLATTER SIDE SLOPES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION OF 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LF	1,590	\$10.00	\$15,900.00
5. EXCAVATION AND EMBANKMENT OF BOUNDARY SWALES, 2' MAXIMUM DEPTH WITH 4:1 OR FLATTER SIDE SLOPES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION OF 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LF	2,250	\$15.00	\$33,750.00
6. EXCAVATION AND EMBANKMENT OF 1' BOTTOM WIDTH SWALES, 5' MAXIMUM DEPTH WITH 4:1 OR FLATTER SIDE SLOPES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION OF 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LF	200	\$50.00	\$10,000.00
7. EXCAVATION AND EMBANKMENT OF POND OUTFALL CHANNEL, INCLUDES CONNECTION TO DECKER BRANCH, 4:1 OR FLATTER SIDE SLOPES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION OF 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	ĹF	100	\$200.00	\$20,000.00
8. EXCAVATION AND EMBANKMENT CONCRETE LINED PILOT CHANNELS, INCLUDES 5° THICK CONCRETE LINING, 0.5° MAXIMUM DEPTH WITH 3:1 OR FLATTER SIDE SLOPES, INCLUDES FINAL GRADING, STRIPPINGS, STOCKPILING OF STRIPPINGS, REAPPLYING OF STRIPPINGS TO FINAL GRADED AREAS, COMPACTION OF 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LF	935	\$60.00	\$56,100.00
9. DRY APPLICATION SEEDING OF DETENTION POND FROM TOE TO HIGH BANK AND ALL SWALES, INCLUDES MOWING AND WATERING TO ACHIEVE 90% HOMOGENOUS VEGETATION FOR FINAL PAYMENT, TO BE USED AT WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	AC	3	\$6,000.00	\$18,000.00
10. HYDROMULCH SEEDING OF DETENTION POND BOTTOM, INCLUDES MOWING AND WATERING TO ACHIEVE 90% HOMOGENOUS VEGETATION FOR FINAL PAYMENT, TO BE USED AT WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	AC	3	\$5,000.00	\$15,000.00
11. BROADCAST SEEDING OF FUTURE LOTS, INCLUDES MOWING AND WATERING TO ACHIEVE 90% HOMOGENOUS VEGETATION FOR FINAL PAYMENT, TO BE USED AT WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	AC	22	\$1,500.00	\$33,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PHASE 2 DETENTION TO SERVE BUTLERS BEND MONTGOMERY COUNTY MUNICIPAL UTILITY I MONTGOMERY COUNTY, TEXAS MARCH 8, 2024 LJA ENGINEERING, INC. S. YOUNG MARCH 12, 2024 1931-0312A (9.2)

7) URSA CORPORATION DBA GREAT BEAR CONSTRUCTION

				00110111001	014
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
12	DEWATERING (GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCTION TO THE DETENTION POND, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY PUMPING NECESSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	AC	6	\$10,000.00	\$60,000.00
13	. AS-BUILT SURVEY OF DETENTION POND, FUTURE LOTS, SWALES, STOCKPILES AND ALL DISTURBED AREA, INCLUDES ALL HIGH BANKS, GRADE BREAKS, TOES, FRONT AND BACK OF LOTS, FLOWLINES OF PIPES, STRUCTURES, ETC., 50' GRID SURVEY, TO BE PROVIDED IN A 3D CAD FILE FORMAT AND EXHIBIT SEALED BY TEXAS PROFESSIONAL SURVEYOR, COMPLETE IN PLACE	LS	1	\$40,000.00	\$40,000.00
SUBT	TOTAL MASS GRADING ITEMS				\$791,750.00
DRAI	NAGE ITEMS				
1	. 24" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	131	\$300.00	\$39,300.00
2	2. 30° RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	81	\$700.00	\$56,700.00
3	I. REINFORCED CONCRETE PRECAST OR REINFORCED CONCRETE CAST IN PLACE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	1	\$20,000.00	\$20,000.00
4	I. REINFORCED CONCRETE PRECAST OR REINFORCED CONCRETE CAST IN PLACE TYPE "C" MANHOLE WITH TYPE "E" INLET TOP FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA		\$20,000.00	\$20,000.00
5	5. BACKSLOPE INTERCEPTOR STRUCTURE, INCLUDES 24" CORRUGATED METAL PIPE, 24" WIDE BAND COUPLER, FABRICATED ELBOW AND REINFORCED CONCRETE SLOPE PROTECTION FOR BACKSLOPE SWALE, COMPLETE IN PLACE	EA	2	\$20,000.00	\$40,000.00
€	S. CONCRETE SLOPE PROTECTION, 4" THICK REINFORCED CONCRETE 3,000 PSI WITH 18" PERIMETER TOEWALL, INCLUDES SCORING OF PIPE, EMBANKMENT OF FILL AND FINAL GRADING OF SLOPES, COMPLETE IN PLACE	SY	132	\$400.00	\$52,800.00
7	7. 18" THICK RIP RAP GRADATION NO. 2, INCLUDES MIRAFI-600 OR APPROVED EQUAL, COMPLETE IN PLACE	SY	64	\$500.00	\$32,000.00
8	3. TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	212	\$2.00	\$424.00
٤	DEWATERING (GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCTION TO THE DETENTION POND, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY PUMPING NECESSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	212	\$50.00	\$10,600.00
10	D. ADDITIONAL COST FOR BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS (WET SAND), TO BE USED AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	ĻF	212	\$50.00	\$10,600.00
SUB	TOTAL DRAINAGE ITEMS				\$282,424.00
MISC	CELLANEOUS ITEMS				
	 CEMENT STABILIZED SAND, 1.5 SACKS OF CEMENT PER CUBIC YARD OF MIX, TO BE USED AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE 	TON	1	\$30.00	\$30.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: **TABULATION DATE:** LJA JOB NO.

CONSTRUCTION OF THE PHASE 2 DETENTION TO SERVE BUTLERS BEND MONTGOMERY COUNTY MUNICIPAL UTILITY [MONTGOMERY COUNTY, TEXAS MARCH 8, 2024 LJA ENGINEERING, INC. S. YOUNG MARCH 12, 2024 1931-0312A (9.2)

		7)	URSA CORPORATION DE CONSTRUCTI	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
2. REINFORCED FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	12,500	\$2.50	\$31,250.00
3. FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	18,500	\$2.00	\$37,000.00
 UTILITY SPOILS (COMPACTED TO 95% STANDARD PROCTOR DENSITY) TO BE USED ON-SITE, INCLUDES HAULING, PLACEMENT AND COMPACTION, COMPLETE IN PLACE 	LS	1	\$10,000.00	\$10,000.00
5. TEMPORARY TRAFFIC CONTROL, COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00
 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDES STREET SWEEPING, INSTALLATION AND REMOVAL OF CONCRETE TRUCK WASHOUT, INLET PROTECTION, ETC., COMPLETE IN PLACE 	LS	1	\$10,000.00	\$10,000.00
 SURFACE WATER CONTROL, INCLUDES PUMPING REQUIRED TO CONSTRUCT PROPOSED PROJECT, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE 	LS	t	\$3,000.00	\$3,000.00
8. TYPE 2 ROCK FILTER DAM, COMPLETE IN PLACE	EA	1	\$3,000.00	\$3,000.00
WOODEN MATS FOR CROSSING OF JURISDICTIONAL STREAMS, INCLUDES THE INSTALLATION, MATERIAL, MAINTENANCE AND REMOVAL, COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00
10. LOW WATER CROSSING FOR CROSSING OF JURISDICTIONAL STREAMS, INCLUDES PIPE, BEDDING AND BACKFILL, MAINTENANCE OR REMOVAL, TO BE USED AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LS	1	\$15,000.00	\$15,000.00
11. STABILIZED CONSTRUCTION EXIT, INCLUDES INSTALLATION, MAINTENANCE AND REMOVAL, COMPLETE IN PLACE	LS	*	\$4,000.00	\$4,000.00
SUBTOTAL MISCELLANEOUS ITEMS				\$133,280.00
ALTERNATE BID ITEM NO. 1				
 HAUL OFF-SITE AND DISPOSE OF MATERIAL GENERATED FROM THE EXCAVATION OF THE DETENTION POND AND FUTURE LOTS AND RESERVES, TO BE USED IN LIEU OF MASS GRADING ITEM NO. 3, COMPLETE IN PLACE 	I CY	10,000	\$40.00	\$400,000.00
SUBTOTAL ALTERNATE BID ITEM NO. 1				\$400,000.00
ALTERNATE BID ITEM NO. 2				
 HAUL OFF-SITE AND DISPOSE OF MATERIAL IN EXISTING STOCKPILES; INCLUDES EXCAVATION, COMPLETE IN PLACE 	CY	25,000	\$40.00	\$1,000,000.00
SUBTOTAL ALTERNATE BID ITEM NO. 2				\$1,000,000.00

BID OPENING DATE: BID OPENING LOCATION: **TABULATION BY: TABULATION DATE:** LJA JOB NO.

CONSTRUCTION OF THE PHASE 2 DETENTION TO SERVE BUTLERS BEND MONTGOMERY COUNTY MUNICIPAL UTILITY [MONTGOMERY COUNTY, TEXAS MARCH 8, 2024 LJA ENGINEERING, INC. S. YOUNG MARCH 12, 2024 1931-0312A (9.2)

7) URSA CORPORATION DBA GREAT BEAR CONSTRUCTION

		Continuonan			
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	
BID SUMMARY					
SUBTOTAL MASS GRADING ITEMS				\$791,750.	
SUBTOTAL DRAINAGE ITEMS				\$282,424.	
SUBTOTAL MISCELLANEOUS ITEMS				\$133,280.	
TOTAL AMOUNT BID				\$1,207,454.	
ALTERNATE BID ITEM NO. 1					
TOTAL AMOUNT BID				\$1,207,454.	
DEDUCT MASS GRADING ITEM NO. 3				(\$40,000	
SUBTOTAL ALTERNATE BID ITEM NO. 1				\$400,000.	
SUBTOTAL ALTERNATE BID ITEM NO. 1					

TOTAL AMOUNT BASE BID INCLUDING ALTERNATE BID ITEM NO. 1 ALTERNATE BID ITEM NO. 1 AND ALTERNATE BID ITEM NO. 2

TOTAL AMOUNT BID DEDUCT MASS GRADING ITEM NO. 3 SUBTOTAL ALTERNATE BID ITEM NO. 1

SUBTOTAL ALTERNATE BID ITEM NO. 2

TOTAL AMOUNT BASE BID INCLUDING ALTERNATE BID ITEM NO. 1 AND ALTERNATE BID ITEM NO. 2

\$1,207,454.00 (\$40,000.00) \$400,000.00

\$791,750.00 \$282,424.00 \$133,280.00 \$1,207,454.00

\$1,567,454.00

\$1,207,454.00 (\$40,000.00)

\$400,000.00 \$1,000,000.00 \$2,567,454.00